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Pythagoras’
Theorem
a2+ b?=c?

hyp

International GCSE MATHEMATICS
FORMULAE SHEET - FOUNDATION TIER
Area of a trapezium = £ (a + b)h

b l——

adj
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opp

¢ a

3 h \
v

¢ b >

adj = hyp x cos 6
opp = hyp x sin 6
opp = adj x tan 0

\Volume of prism = area of cross section x length

or sin9=%

hyp

adj
hyp

cosO =

opp
adj

tan@

Circumference of circle = 2xzr

Area of circle = 7r?

&

Volume of cylinder = zr?h

Curved surface area
of cylinder = 2zrh
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Answer ALL TWENTY FOUR questions.
Write your answers in the spaces provided.

You must write down all the stages in your working.

1 (a) Write the number 46 207 in words.

(b) Write down the value of the 3 in the number 43 980

(c) Write a number on the dotted line so that the calculation is correct.

........................ + 56 =879

(d) Write down the square number that is between 31 and 44

(1)

1)
(e) Write 16.76 correct to the nearest whole number.
AAAAAAAAAAAAAAAAAAAAAAAAAAAA (1)
(f) Write % as a decimal.
............................ (1)
(g) Shade 20% of this shape.
1)
(Total for Question 1 is 7 marks)
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The diagram shows a quadrilateral ABCD drawn on a grid.
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(a) Write down the coordinates of

(i) point A

(i) point C

(b) Write down the mathematical name for the quadrilateral ABCD.
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(c) Work out the coordinates of the midpoint of BD.
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(Total for Question 2 is 5 marks)
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3 The bar chart shows information about the distance travelled to school by each of five teachers.

35

30
25

Distance

travelled 20

to school 15
(km)

10 |

Mr Miss Mrs Mr Miss Dr
Pau Khan Chadha Smith Dhesi Hughes

Teacher

Two of the teachers travelled the same distance to school.

(a) Which two teachers?

(1)
Dr Hughes travelled 28 km to school.
(b) Draw a bar on the bar chart for this information.

1)
(c) Write down the name of the teacher who travelled the greatest distance to school.

(1)

(Total for Question 3 is 3 marks)
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4 Here is a shape.

(a) What type of angle is the angle marked x?

1)
(b) Measure the size of the angle marked y.

1)
(c) On the diagram, mark with arrows (> >) the pair of parallel lines.

1)

(Total for Question 4 is 3 marks)

5 Here are the first five terms of a number sequence.

5 17 29 41 53

(a) Work out the next term of the sequence.

The 40th term of the sequence is 473

(b) Work out the 39th term of the sequence.
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(Total for Question 5 is 2 marks)
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6 (a) Complete the following sentences by writing a suitable metric unit on each of the

dotted lines.
m‘::f (1) The weight of a penis 14 ...

(i) The length of a table is 1.8 ..

(2)
(b) Change 3.9 litres into millilitres.

....................................................... millilitres

(1)

(Total for Question 6 is 3 marks)

7 (a) Write down the number that is exactly halfway between 14.31 and 14.34

(b) Write 0.28 as a percentage.

(¢) Find the square root of 3.61

(d) Write these decimals in order of size.
Start with the smallest decimal.
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(Total for Question 7 is 4 marks)
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8 (a) Solve 3q=42

(b) Solve 18—-y=6

k
(c) Solve 3 12

(d) Simplify ¢ x2 xd

(e) Simplify 9x* + 7% — 2x°

(f) Expand 3(2m +5)

(Total for Question 8 is 6 marks)

( )

P 5 3 2 9 4 A 0 8 2 4

ot a *‘ ¥
R

%
&
5
K5

%%
00%&&,’ %,:
<X
%

<5538
OBEIRIELIRIGEs

SR RICIGRRKIC

%
%

S
29N
XHRRKS

<

AR ICICIKX
LRI
K

092
QLRI

QHRRIILKLLRRN

000

EERRLLERRLLEARRL

IR IR HCI AR
KRR KELR

<%
oot
6%%
[0
%

IS
SIIRIEK2
ORI RKKKR

<
<

')
KRS,

XXX
R

LI
RN
SRK

~
X
%%
JIN
L
KL

%
X
I
X
XA

G
SRR
% Q’OQ

B
2
%
29
L
S
5

¢
o
000,

O
Ny
295088, &
SIoseses, 1 4o
S50
09593
SRR

¢!

9%
KKK

QCICRRIEIRRKY

RRELRS

QLB
05 %%
S

RKERKS

%
X KKK
X K KKK
SRS

o
3
0o

CIRRKS
%

<5
5
o
e

XX



0%
GRS
KO
&
oo 0%
KR

KKK XK
o o
SIS
RRLSEILLELIRLKLE,

RIS,

SO
SR8
Segegesese
2K
16%%

<
&
0%
0%

S
K

SR

5
20

CRIIASARCIARKL

X

I CIK KRN
SRR
SIS

<

%

<
CSRIISIIKELEAERKL

KX

%
%
7%
S

07
55

St
4

34
9%

A
s
R

0
ool
SR

A
XS
oAt

()
Voo
K

%

%
b
teait

<UL
fotol %8
SR

"
&=
RN
0%

%
<
<
0%
o
%
<
0%

05
&)
%

CRRRIHARLILRS

St lotototetedetetetet
¢!

ORI AR IAK AR XA

<
555
<5
3
258
2

K AEREAIIIRKAIIIK A

o
R IRRREER

:00000000000
R R KIREISRKIKIKLN
KRR IKIILR KL

RRELRS

KR

SRS

<
X
6%
<
<
XA

( )
9 Sophie makes 160 cupcakes for a charity cake stall.

30% of the cupcakes are chocolate.

% of the cupcakes are lemon.

The rest of the cupcakes are blueberry.

Work out the number of blueberry cupcakes Sophie makes.

(Total for Question 9 is 4 marks)
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10 (a) On the grid, reflect the shaded shape in the line AB.

A

Shape Q is an enlargement of shape P.

(b) Write down the scale factor of the enlargement.

(1

(Total for Question 10 is 2 marks)
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ABC and DBE are straight lines.

(a) Find the size of angle X.

(b) (1) Work out the size of angle y.

(i) Give a reason for your answer.

BC =BE

(c) Work out the size of angle z.

(Total for Question 11 is S marks)

............................... ( 1)
................................... (2)

Diagram NOT
accurately drawn

(2

J
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12 (a) Write 9 X9 X9 x9x9x%x9 as asingle power of 9

(b) Write down the prime number that is between 21 and 28

1)
(c) Find 3/19 683
1)
(d) Write g as a percentage.
AAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAA %
(1)
(Total for Question 12 is 4 marks)
13
£1 =135 Japanese Yen (JPY)
(a) Change £320 into Japanese Yen.
AAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAA JPY

(b) Change 1728 Japanese Yen into pounds (£).

(1

(Total for Question 13 is 2 marks)
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14 (a) Write down the probability of an event that is certain to happen.

5 (1)
8 Eliya has a biased dice.
The probability that the dice will land on the number 5 is 0.3
(b) Find the probability that the dice will not land on the number 5
1)
Eliya throws the dice 150 times.
The probability that the dice will land on the number 5 is 0.3
(c) Work out an estimate for the number of times that the dice will land on the number 5
(2)

(Total for Question 14 is 4 marks)

~ =< | 15 Write 360 as a product of its prime factors.
Show your working clearly.
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16 Janine has a bag of buttons.

The buttons are green or red or white or blue.

The pie chart gives information about the number of buttons of each colour in Janine’s bag.

red

120°( 1

There are 60 green buttons in the bag.

green

white

blue

(a) Work out the total number of buttons in the bag.

(b) Work out the number of red buttons in the bag.

Janine also has a tin of counters.

The table gives information about the counters in Janine’s tin.

Colour Frequency
Black 40
Pink 30
Orange 55
Purple 75
Total 200

(c) Write down the fraction of the counters in Janine’s tin that are black.

Give your fraction in its simplest form.
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A pie chart is drawn to show information about the number of counters of each colour in
Janine’s tin.

(d) Work out the size of the angle in the pie chart for the 30 pink counters.

(Total for Question 16 is 6 marks)

17 Pasquale has a map with a scale of 1:125 000
His house is 14 kilometres from an airport.

(a) Work out the distance on Pasquale’s map, in centimetres, from his house to the airport.

(2)
Luciana has a map with a scale of 1 : n
Her house is 4.8 kilometres from a station.
On Luciana’s map, the distance from her house to the station is 19.2 centimetres.
(b) Work out the value of n.
N =
(2)

(Total for Question 17 is 4 marks)
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18 (a) Use your calculator to work out the value of

8.9 +2.345
0.76 x 2.9

Write down all the figures on your calculator display.

(b) Give your answer to part (a) correct to 2 significant figures.

(Total for Question 18 is 3 marks)

19 A=p>+7q

(a) Work out the value of Awhenp=—7andq=5

A=p>+7q
(b) Work out the value of q for which A = 100 when p = 11

(Total for Question 19 is 5 marks)
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20 Stephen has a biased 5-sided spinner.
He spins the spinner 80 times.

The table shows information about his scores.

His score each time is the number that the spinner lands on.

Number on spinner Frequency
1 5
2 12
3 16
4 32
5 15

(a) Find Stephen’s median score.

(b) Work out Stephen’s mean score.

Stephen is going to spin the spinner once more.

will land on an even number.

(c) Use the information in the table to find an estimate for the probability that the spinner

(2)
(Total for Question 20 is 7 marks)
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21 (a) Solve the equation 3(1 —2y)=2y -7
Show clear algebraic working.

(b) Write down the inequality shown on the number line.

(c) Solve the inequality 2m + 13 > 8

(Total for Question 21 is 7 marks)
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22
P .
Diagram NOT
accurately drawn
10.6 cm
5.9 cm
-
R
Q
(a) Work out the length of QR.
Give your answer correct to 3 significant figures.
.............................................. cm
3)
(b) Work out the size of angle PRQ.
Give your answer correct to 1 decimal place.
3)
The length of a line is 12.4 cm correct to one decimal place.
(c) Write down the upper bound for the length of the line.
1)
(Total for Question 22 is 7 marks)
J
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23 On the grid, draw the graph of y =5 —3x for values of X from —2 to 3

12

11
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(Total for Question 23 is 3 marks)
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24 Use ruler and compasses only to construct the bisector of angle ABC.
You must show all your construction lines.

(Total for Question 24 is 2 marks)

TOTAL FOR PAPER IS 100 MARKS
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